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QUESTION 1

When configuring an IES spoke termination to a VPLS, what must be explicitly configured in order for the service to
come up? (Choose two.)

A. MTU must match on both services,

B. Mesh-SDP with matching vc-id configured,
C. Spoke-SDP with matching vc-id configured.
D. Spoke-SDP.

Correct Answer: AC

QUESTION 2

Which of the following statements is TRUE regarding service mirroring?

A. Mirror slicing is used to logically separate a port that is being monitored.

B. Mirror slicing configuration is earned out in the mirror destination.

C. By default, mirror slicing is enabled so that only the protocol headers of data traffic are replicated to a mirror port.
D. The maximum number of mirror slices that can be made on a network and access port are 256 and 8, respectively

Correct Answer: B

QUESTION 3

On a Nokia 7750 SR, which vc-type will strip service delimiting tags at the ingress PE?
A. vc-type ether

B. vc-type vian

C. vc-type dotlq

D. vc-type null

Correct Answer: A

QUESTION 4
A service can be either local or distributed.

A. TRUE

4A0-104 VCE Dumps | 4A0-104 Practice Test | 4A0-104 Exam Questions 2/3


https://www.passapply.com/4a0-104.html
https://www.passapply.com/4a0-104.html
https://www.passapply.com/4a0-104.html

VCE & PDF https://www.passapply.com/4a0-104.html
2024 Latest passapply 4A0-104 PDF and VCE dumps Download
PassApply.com

B. FALSE

Correct Answer: A

QUESTION 5

Which of the following tasks must be carried out before deleting an E-pipe service? (Choose four.)
A. Shut down all SAPs associated with the service.

B. Shut down all SDPs associated with the service.

C. Delete all SAPs and SDPs associated with the service.

D. Shut down all physical ports that are bound to a SAP.

E. Delete the Customer ID.

F. Shut down the service.

Correct Answer: ABCF
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